The Ideal Gas Law Practice Problems
Round your answer to three significant digits for each of the following questions.
1.
What amount of air, in moles, is present in a house containing 600 m3 of air at 20 °C and 
98 kPa? (1 m3 = 1 kL)

2.
Calculate the mass of neon gas in a neon sign with a volume of 50 L at 10 °C and 3.1 kPa.

3.
Calculate the volume of 8.4 g of nitrogen at 200 °C and 130 kPa.

4.
Hydrogen gas is generated by the decomposition of water to fill a 1.1 kL weather balloon at 20 °C and 100 kPa. What is the mass of hydrogen required?

5.
Calculate the volume of 16 g of oxygen at 22 °C and 97.5 kPa.
The Ideal Gas Law – Complete your work on separate paper.
Complete the following table (rearrange PV = nRT to isolate the variable you want)

R = 8.314 L.kPa/K.mol or 0.08206 atm.L/K.mol)
	#
	P
	V
	n
	T

	1
	100 kPa 
	20.0 L 
	1.00 mol 
	____ °C


	2
	750 mm Hg 
	150 L 
	2.00 mol 
	____ °C


	3
	1.00 atm 
	100 mL
	3.50 mmol 
	____ K


	4
	100 kPa 
	22.4 L 
	____mol 
	-23 °C


	5
	700 mm Hg 
	24.8 mL 
	____mol
	127 °C


	6
	1.00 atm 
	760 mL 
	____mol
	25 °C


	7
	101.325 kPa 
	____ L 
	1.00 kmol 
	0 °C


	8
	75 mm Hg 
	____ L 
	9.0 mmol 
	-33 °C


	9
	1.00 atm 
	____ L 
	3.2 mol 
	100 °C


	1 0
	kPa 
	22.4 mL
	1.00 mmol 
	0 °C


	1 1
	____ atm 
	1500  mL 
	1.00 mol 
	55°C


	1 2
	____ mm Hg 
	100 mL 
	33.2 mmol
	 298 K
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